# **Request for Board of Commissioners' Action**

From:	Faye Hughes, County Administrator		Date:	7/13/2021	
Subject:	2021 LMIG Bid alternates	Item Number:		VIII- B	

The Scruggs Company was the low bid on the recent 2021 LMIG projects. They were asked to give prices for additional paving to be done as alternates to the original bid. Originally, Daniel Hester Road was included in the resurfacing and was not supposed to be. Moving Daniel Hester to an alternate removing it from the original bid reduced the original bid of \$1,438,127.21 to \$1,032,320.21.

The alternates included:	Daniel Hester – (resurfacing 2 MI)	\$405,807.00
	Ed Lindsey – (resurfacing additional 1 MI)	227,560.54
	Rountree Bridge Rd (resurfacing 1 MI rather than p	152,207.72 patching)
	Hutchinson Parrish Rd (resurfacing 2.2 MI rather than pa	488,530.28 atching)
3	Springhill Rd (resurfacing .57 MI rather than pa	132,349.03 atching)
Ē	otal Alternate projects:	\$1,406,454.57
,	Total Original projects + Alternates	\$2,256,654.60

In order for me to complete the contract, the Board will need to make a decision on which of the alternates to include in the contract.

Once a decision is made this item will need to be moved to regular session and voted on by the Board. I will then complete the contract send it to The Scruggs Company and the County Attorney. Once all the signatures and approval of the County Attorney have been completed, a notice to proceed will be issued. We will notify the County Engineer that a notice to proceed has been issued, as he has oversight and will be the person the Board will contact if problems occur concerning the projects.

### **Original Bid**

Project(s): COOK COUNTY VARIOUS ROADS BID SUMMAR SHEET

ED LINDSEY ROAD	resurfacing 1.25 MI	256,574.40
JOINER ROAD	resurfacing 1.31 MI	270,626.80
BURNETTE ROAD	resurfacing .20 MI	51,640.50
DANIEL HESTER ROAD	resurfacing 2.0 MI	405,807.00
COUNTY FARM ROAD	resurfacing .90 MI	211,953.79
SPINGHILL ROAD	patching 1.45 MI	79,029.29
LONNIE GRIMSLEY ROAD	patching multiple places	33,668.00
GREGGS ROAD	patching	25,736.54
ROUNTREE BRIDGE ROAD	patching 4.10 MI	69,422.89
HUTCHINSON PARRISH ROAD	patching two locations	33,668.00

1,438,127.21

#### Amended Bid

Project(s): COOK COUNTY VARIOUS ROADS BID SUMMAR SHEET

resurfacing 1.25 MI	256,574.40
resurfacing 1.31 MI	270,626.80
resurfacing .20 MI	51,640.50
resurfacing 2.0 MI	
resurfacing .90 MI	211,953.79
patching 1.45 MI	79,029.29
patching multiple places	33,668.00
patching	25,736.54
patching 4.10 MI	69,422.89
patching two locations	33,668.00
	resurfacing 1.31 MI resurfacing .20 MI resurfacing 2.0 MI resurfacing .90 MI patching 1.45 MI patching multiple places patching patching 4.10 MI

1,032,320.21

## Amended Bid with Alternates

Project(s): COOK COUNTY VARIOUS ROADS BID SUMMAR SHEET

ED LINDSEY ROAD	resurfacing 1.25 MI	256,574.40
JOINER ROAD	resurfacing 1.31 MI	270,626.80
BURNETTE ROAD	resurfacing .20 MI	51,640.50
DANIEL HESTER ROAD	resurfacing 2.0 MI	
COUNTY FARM ROAD	resurfacing .90 MI	211,953.79
SPINGHILL ROAD	patching 1.45 MI	
LONNIE GRIMSLEY ROAD	patching multiple places	33,668.00
GREGGS ROAD	patching	25,736.54
ROUNTREE BRIDGE ROAD	patching 4.10 MI	
HUTCHINSON PARRISH ROAD	patching two locations	
		850,200.03
		Section with the
Alternates		
ED LINDSEY ROAD	resurfacing 1 MI	227,560.54
Rountree Bridge Road	resurfacing 1 MI	152,207.72
Hutchinson Parrish Road	resurfacing 2.2 MI	488,530.28
DANIEL HESTER ROAD	resurfacing 2.0 MI	405,807.00
Springhill Road	resurfacing .57 MI	132,349.03
		1,406,454.57
Total original request plus altern	nates	2,256,654.60

Additional Mile Ed Lindsey Road	Unit	Qty:		Bid Price		Bid Total
Traffic Control	LS	1	\$	7,500.00	\$	7,500.00
Mix In Place W/ 34#/sy	SY	14667	\$	5.21	\$	76,415.07
OGI @85#/sy	TN	599	\$	85.55	\$	51,244.45
12.5 MM Sp @ 138#/sy	TN	972.00	\$	82.42	\$	80,112.24
Tack Coat	Gal	1,128.00	\$	2.60	\$	2,932.80
Rumble Strip	Set	1.00	\$	2,510.88	\$	2,510.88
Thermoplastic Stop Bar 24"	EA	1.00	\$	139.50	\$	139.50
Traffic Stripe, 4" Solid White Temporary	LF	10,560.00	\$	0.12	Ś	1.267.20
Traffic Stripe, 5" Solid White Permanent	LF	10,560.00	\$	0.18	\$	1,900.80
Traffic Stripe, (Solid/Skip/Dbl) 4" Yellow Temp	LF	5,280.00	\$	0.31	\$	1,636.80
Traffic Stripe, (Solid/Skip/Dbl) 5" Yellow Perm	LF	5,280.00	\$	0.36	\$	1,900.80
					\$	227,560.54
Rountree Bridge	Unit	Qty:	1	Bid Price		Bid Total

Kountree Bridge	Unit	Qty:	1	Bid Price	Bid Total
Traffic Control	LS	1	\$	6,500.00	\$ 6,500.00
OGI @85#/sy	TN	600	\$	88.09	\$ 52,854.00
12.5 MM Sp @ 138#/sγ	TN	980.00	\$	82.53	\$ 80,879.40
Tack Coat	Gal	1,126.00	\$	2.60	\$ 2,927.60
RR Crossing Symbol	EA	1.00	\$	1,000.00	\$ 1,000.00
Traffic Stripe, 4" Solid White Temporary	LF	12,672.00	\$	0.12	\$ 1,520.64
Traffic Stripe, 5" Solid White Permanent	LF	12,672.00	\$	0.18	\$ 2,280.96
Traffic Stripe, (Solid/Skip/Dbl) 4" Yellow Temp	LF	6,336.00	\$	0.31	\$ 1,964.16
Traffic Stripe, (Solid/Skip/Dbl) 5" Yellow Perm	LF	6,336.00	\$	0.36	\$ 2,280.96
					\$ 152,207.72

Hutchinson Parish (2.2 Miles)	Unit	Qty:	<b>Bid Price</b>	Bid Total
Traffic Control	LS	1	\$ 13,000.00	\$ 13,000.00
Mix In Place W/ 34#/sy	SY	30976	\$ 5.21	\$ 161,384.96
OGI @85#/sy	TN	1320	\$ 88.09	\$ 116,278.80
12.5 MM Sp @ 138#/sy	TN	2,140.00	\$ 82.53	\$ 176,614.20
Tack Coat	Gal	2,500.00	\$ 2.60	\$ 6,500.00
Traffic Stripe, 4" Solid White Temporary	LF	23,232.00	\$ 0.12	\$ 2,787.84
Traffic Stripe, 5" Solid White Permanent	ĹF	23,232.00	\$ 0.18	\$ 4,181.76
Traffic Stripe, (Solid/Sklp/Dbl) 4" Yellow Temp	LF	11,616.00	\$ 0.31	\$ 3,600.96
Traffic Stripe, (Solid/Sklp/Dbl) 5" Yellow Perm	LF	11,616.00	\$ 0.36	\$ 4,181.76
				\$ 488,530.28

Daniel Hester (Mill Creek to Rowan)	Unit	Qty:		Bld Price		Bid Total
Traffic Control	LS	1	\$	10,279.30	Ś	10,279.30
Mix In Place W/ 34#/sy	Sy	25813	\$	5.10	Ś	131,646.30
OGI @85#/sy	TN	1100	Ś	82.26	Ś	90,486.00
12.5 MM Sp @ 138#/sy	TN	1,870.00	Ś	83.42	Ś	155,995.40
Tack Coat	Gal	1,300.00	ŝ	2.60	Ś	3,380.00
Thermoplastic Stop Bar 24"	EA	4.00	Ś	139.50	Ś	558.00
Traffic Stripe, 4" Solid White Temporary	LF	21,200.00	Ś	0.12	Ś	2.544.00
Traffic Stripe, 5" Solid White Permanent	LF	21,200.00	Ś	0.18	Ś	3,816.00
Traffic Stripe, (Solid/Skip/Dbl) 4" Yellow Temp	LF	10.600.00	ŝ	0.31	Ś	3,286.00
Traffic Stripe, (Solid/Skip/Dbl) 5" Yellow Perm	LF	10,600.00	Ś	0.36	ŝ	3,816.00
		~- <b>-</b>	·		•	405,807.00
Springhill Road (Overpass to White Road 0.57 Mile	sì					
Traffic Control	י, נג	1	ŝ	6,500.00	Ś	6,500.00
Mix In Place W/ 34#/sy	Sy	8139	ŝ	5.21	ś	42,404.19
DGI @85#/sy	TN	350.00	š	88.09	š	30,831.50
12.5 MM Sp @ 138#/sy	TN	570.00	ŝ	82.53	ś	47,042.10
Fack Coat	Gal	652.00	š	2.60	ś	1,695.20
Fraffic Stripe, 4" Solid White Temporary	LF	6,104.00	š	0.12	š	732.48
Fraffic Stripe, 5" Solid White Permanent	LF	6,104.00	š	0.18	ś	1,098.72
Fraffic Stripe, (Solid/Skip/Dbl) 4" Yellow Temp	LF	3,052.00	š	0.31	ŝ	946.12
Fraffic Stripe, (Solid/Skip/Dbi) 5" Yellow Perm	LF	3,052.00	ś	0.36	ś	1,098.72

Any Patching Will be @ \$179.91 Per Ton

# PROJECT(S): COOK COUNTY VARIOUS ROADS BID SUMMARY SHEET

.

	ED LINDSEY ROAD	\$256,574.40
	JOINER ROAD	\$270,624.80
	BURNETTE ROAD	\$51,640.50
	COUNTY FARM ROAD	
	· · · · · · · · · · · · · · · · · · ·	\$211,953.99
	SPRINGHILL ROAD	\$79,029.29
	LONNIE GRIMSLEY ROAD	\$33,668.00
	GREGGS ROAD	\$33,668.00 \$.25,736.54
	ROUNTREE BRIDGE ROAD	\$ 69,422.89
	HUTCHINSON PARRISH ROAD	\$ 33,668.00
TOTAL BID	I	\$ 1,032,320.21
AMOUNT:		

`

I.